g4

Multiplique decimais por 10.100.1000

Nome: Encontro: Data: Pontuacio:
10, 043 x 100 = 4,52 %10 =
6,607 x 1000 = 3,076 x 1000 =
6,787 x 100 = 10, 532 x 100 =
9,584 x 100 = 1,898 x 1000 =
3,325 % 10 = 9,186 x 10 =
7,93 x 10 = 4,101 x 100 =
7,839 x 1000 = 9,628 x 10 =
1,849 x 100 = 8,538 x 10 =
3,841 x 100 = 6,602 x 10 =
7,124 % 100 = 5,599 x 10 =
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fo rdo

Multiplique decimais por 10.100.1000

Nome: Encontro: Data: Pontuagio:
10,043 x 100 = 1004.3 4,52 x 10=45.2
6, 607 x 1000 = 6607 3,076 x 1000 = 3076
6,787 x 100 = 678.7 10,532 x 100 = 1053.2
9,584 x 100 = 958.4 1, 898 x 1000 = 1898
3,325 x 10 =33.25 9,186 x 10 =91.86
7,93 x10="79.3 4,101 x 100 =410.1
7, 839 x 1000 = 7839 9,628 x 10 = 96.28
1,849 x 100 = 184.9 8,538 x 10 = 85.38
3,841 x 100 = 384.1 6,602 x 10 = 66.02
7,124 x 100 ="712.4 5,599 x 10 = 55.99
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